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Section A (60 marks) :
For each question from 1 to 30, four options are given. One of them is the correct answer. Choose
the cofrect option (1, 2, 3 or 4) and shade the cosrect oval on the Optical Answer Sheet (OAS)

provided.

1 The animals befow are classified into two groups, A and B.

Animails

Group A Group B
penguin dotphin
Kiwi cow
mosquito
housefly
platypus’ |
snake

Based on the classification chart shown above, the animals are grouped according to

(1N their diet

(2)  howthey breathe

(3)  their body covering

{4) the methad of reproduction

2 Substance W melts at 15°C and bgils at 110°C. Substance W is a solid at
1y 1%
2y 46°C
(3} 65°%C
4y 125°C
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3 Look at the flow chart below carefully.

Which of the following correct!y identifies the animals that the letters A, B, C and D

Animals

F

Yes

‘Does ithavea . Yes. {s part of its life
4-stage fife cycle? cycle in water? -
No| No
; y r
Does it have Yes B C
feathers?
No}
A

. fepresent?
A B C D
() whale penguin housefly mosquito,

(2 butterfly - eagle dragonfly gquppy

(3) cockroach moth snake dragonfly

4 spider sparrow butterfly tubifex worms;
4 The diagrams below show two organisms reproduting themselves.

Organism S Organism T

Which one of the following statements best describes Organisms S and T in the diagrams?

(1)
0
@3
4

They are both single-celled organisms.

tx"

They reproduce through sexual reproduction.

Fertilisation has taken place in both organisms.

Each cell that is produced has different characteristics.
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5 The following diagram shows the family tree of Wayne and his brothers.

®

]

The table below shows the characteristics of his family members and a tick (') indicates
that the person has that characfer_istigi. Wayne is the one in the family who most resembles

Legend

O

male

female

his father.
Fami Characteristics
amily = — Soton
member | Single eyelids ound tace Straight hair etached
shape L E earlobe
A v o v v
B v v
C v v v
D v v
£ s v
F v v
Which letter in the family tree represents Wayne?
() ¢
2 ©O
3 E
(4 F
6 Doctors are able to fertilise a woman's egq in a test-tube before implanting the embryo into

the woman's reproduclive system.

In which part of the woman’s reproductive system should the embryo be implanted?

(1 A
@ B
@ C
4 D
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Haigal prepared four containers filled with equal amounts of water at 5°C, 15 °C, 30°C and
40°C. He capped the containers and placed therit in a special room. After 15 minutes, he
observed the following.

water

droplets

P _ Q
(1) gainedheat | gained heat
(2 tost heat lost heat
3 gained heat lost heat
(4) lost heat gained heat

water at
15°C 40°C

What is the most likely temperature of the special room?

(1) _ 10°C
2 18°C”
3 32°C

(4  50°C

Water can change from one state to another as shown below.

P and Q represent the processes in which water changes from one state fo another. Whlch
of the following is frue about heat loss or heat gain during processes P and Q7
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g -The-g_raph_ below shows the amount of undigested food in the organ as it enters that organ

in the digestive system.

Amount of

undigested
food

T T m—_!

Mouth Gullet  Stomach Smatf ‘large
intestine intestine

‘Based on the graph shown, in which organ did most of the digestion take place?

(1)
(2
(&)
(4)

Mouth
Stomach
Smialf intestine
Large intestine

10 The diagram below shows how sugar and water are fransported fo and from different parts
of a plant. The different parts of the plant are represented by the letters A, B and C.

T : sugar ——-—-—p
¥

I ey e > water ———»
B STEM | ———» :

Which of the following best represents the paits of the plant A, B and C?

(1)
@
3)
@)

A B C
flowers leaves roots
roots flowers leaves
roots leaves fruits .
fruiits roots leaves

ACS (JUNIOR} P6 SAT 2013 A5 : e




11 Aaron prepares two set-ups as shown below.

Set-up X Set-up Y

He pdurs water info the funnels of both set-ups. He observes that the water flows easily
through the funnel in set-up X but only a few drops flow through the funnel in set-up Y.

Which of the following best explains his observation?
(1) There is more water in set-up X.
2) The air in sef-up X could escape

- (3) - Thefuninet in set-up Y-is smaller, - :
(4)  The rubber stopper in Set-up Y was loo big.

12 The dizgram below depicts the human circulatory system.

lungs -

P, Q;-R and S are blood vessels that connect the various organs. Which- of t_he blood

vessels camry oxygen-ich blood?
() PaidQ

{2) Pand S

3) Qand R

4) Rand S
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.13 Zachary ohserved twa cells and recorded the observations in the table below A tick (V)
indicates that the part is present in the cell.

Cell part Cell M Cell N
Nucleus . v v

| Cellmembrane . | v ‘e
__ Celiwall - ' Y
Cytopltasm _ v v
Ch!orop!ésts 4

Based on the table above, what can Zachary conchixde about Cells M and N?

| M N
() From an animal From a plant
2) From the root of a plant Fromthe leaf of a plant
(3) - Is a red blood cefl Is awhite blood celf
(4) From a plant. From an animal 7

14 Dylan set up the circuits below usirg a bulb, 2 batieries and 3 objects A, Band C.

ol {1}~

RO

—®- | ®-—

Circuit 1 Circuit 2

He observes that Circuit 2 fights up but Circuit 1 does not light up. He uses the same
objects A, Band C to form the circuits below.

AN

Circuit 3 ' Circuit4 Circuit 5

Dylan would see the buib lighting up in circuit(s)

(1)  4only

(2) Jdand 4 only

(3) 4and5only
(4) 3 4and5
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15

16

Raju wanted fo find out if the arrangémem_ of bulbs would affect the brightness of the bulbs.

Set-up S Set-up T Set-upt)

If the bulbs are similar and the batteries are of equal voltage, Raju should use set-ups
' to ensure a fair test.

() SandT
() SandV
(3) TandV
(4) UandV

Gabriel has three magnets, A, B and C, of the same size and mass. He set up an

experiment as shown in diagram 1. using magnets A and B and repeated his experiment. .

with magnets B and C.

15cm . ) 15c

- String ' : : &
: Jeom

N ' @3 cm

MagnetA | g N
5 | MagnetC
batance —t

s s
Magaet B [ #agnet B

N N

: I ] L A
Diagram 1 Diagram

Based on the above results, which of the following statement(s) about the magnets isfare
correct?

A Allthe magnets are of equal strength.
B A forceis present between the magnets in the set up above.
C  Magnet A would be able to atiract more steel paperclips than C.

(h Aonly

(2) C only

(3) 8 and C only
4) A, BandC
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17 Jane used the stroking methiod shown below to turm her iron-nails into temporary magnets. :
' She-then lried to pick up as many paper cfips as she could with her magnetised nails. The
table betow shows the number of paper clips each magnetised nail managed fo pick up.

1 —— magnet -

s .
iron

‘3/ aail

" Nail A Nail B Nail C Nail D
b ¢ 4 .
Num el: of paper clips 2 7 5 - 40
picked up S

Arrange the strength of the magnetised nafis from the weakest to the strongest,

(1) A CBD
(2) A, D.C.B
(3) B.ADC
(40 B,D,C,A

18 Zavier, conducted an experiment as shown below to invesﬁgaié how the angle of a ramp,
(£G), affects the amount of force needed fo move a wooden black up the ramp.

ramp wooden
black

astack of
books

ground

Which of the following variables must he keep the same to ensure that his experiment is fair?

A Nuaiber of books

B Material of the ramp

C Size of the wooden block
D Mass of the wooden block

(1) A, B and C only
(2) A, C and D only
) 8, C and D only
(4) All of the above
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19 William conducted an experiment to determine how much a spring would stretch when
different objects were placed in the weighing pan. He set up the apparatus as shown below.

, pring
retort . S
stand weighing

pan

i !

He plotted the results of his experiment in the graph Below.
F 3

3 SR U

- BExtension of
spring {cm)

AN W oA
1
]

fish 400g key papaya  pebble

Which object is fikely fo weigh 600g?

(N -key
(23 fish
(3) pebble
(4) papaya

20 An Ang;ana ‘free along Winstedt Road has two bird’s nest fems and some dragon scale
fems growing on it. Ants, squirrels and some mynahs five on the tree tao. There are some
chicks in the mynahs’ nest. How many populations are sustained by the tree?

(1)
(2)
G)
4

~ ;o
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21 Andy and his friends placed some organisms A in an aquarium. A few days later, they

placed some organisms B info the same aquarium. They observed how the fumber of

organisms A and B changed over two weeks and plotted their observation in the graph
below. The living condition in the aquarium was favourable for both types of organisms.

16 /
Populafion / \

_size 12 / j

2 4 6 8 10 12 14 15
‘Number of days '

ey OrganismA —— . OrganismB ———— - .
The children made the following statements at the end of their investigation.

John : Organism A'was the predator of organism B.

Kumar : There were no more organisms A and B at the end of the two weeks.

Alice : The population sizé of both organisms was the same on one of the days.

Andy : The largest population size of organism A was 20 while that of organism B
was 10 during the two weeks.

Based on the information from the graph only, whose statements are correct?
(1) . Andyand Alice
(2) Andy and John

(3)  Alice and Kumar
4) John and Kumar
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22  Farmer Lee sprayed inseclicide in March to prevent insects J and K from destroying his
crops. He monitored how the populaion of both insects changed before and after he
sprayed the insecticide and recorded tis observation in the graph below.

&

Poputation

size : "

L —— o= — === Insect J

o] { { 4+ Months
Mar Apr May Jun Jul .

Which of the following are pc_:ssibie reasons for insects J and K to return to their original
numbers after some time?

The fafner stopped spraying insecticide..

Heavy rain washed away the insecticide.

Other types of insecls joined the community.

The insects were not affected by the insecticide. . -

o0m»

{n A and B only
(2)  AandCoily
{3) B and D only
4) C and Soanly -

23 lan conducted an experiment ta find out which species of ladybird, R or S, can better
control the population of aphids in his planfation. He put 2 Ladybirds R in Set-up A and 2
Ladybirds S in Setup B. He also placed an equatl number of aphids in each set-up and left
them undisturbed for a day.

) mesh wire netting
et eee st er et toenggessseesesesae rrresrnsllcnnrespe

Ladybirds R aphids

water

gl

To determine which specie of ladybird to use to control the aphids, he should choose the
set-up which has the’ .

(1) most amount of water left
2) least amount of leaves left
(3) least number of aphids left .
(4)  most number of ladybirds left
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24 The table below shows how some animals have been grouped.

Herbivoré Carmivore 7 Omnivore
S T u
v w D G

Which of the following is a possible food web based on the above information?

m plant —» v —» U @) plant —» S
N1 | P 71
Y V — W

(3} We— plant —» U - (4) U -<«— plant —» V

N N

25  Which of the following examples are behavioural adaptations of animals?

A Wolves hunt in packs ta catch their prey more easily.
B Some animals have a spedial smell to attract their mates.
C Some birds move from one place to another to avoid winter.
3, Some butterflies have eyespots on their wings fo scare their predators,

(1) AandConly
(2) B and D only
{3) A, CandD only
{4) B, C and D only

26 _ Some inventions imitate the adaptdtions of animals. The diagram below shows a girl
wearing snorkelling gears and flippers under water. Which of the following animals could
fippers and snorkelling gears have been imifated from? :

A Turtie

B Dragonfly nymph .
C Wafer stick insect
D = Greatdiving beetle

(1) AandConly
2y Aandionly
{3y BandConly
4 BandDonly
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27 -

28

T AP e 4t i e

The diagram below shows a torchiight shining at an object.

. screen ——g

tocch T 7T

s ! Position '
_ 1 i
)t o |

Which one of the following objects would cast the darkest shadow when light is shown at it?

(1)
2
3
(4)

ohle

glass beaker
frasted glass
tracing paper
five-cent coin

W, X, Y, and Z are 4 similar blobs of wax on a piece of copper wire that was bent into the
shape of a regular star. When the copper wire was strongly heated at a certain point, the
blobs of wax began to meltin the order of W, X, Z, Y. }

Position D

z

Position C

At which position, A, B, C or D, was the wire most fikely to be heated?

(1
(@)
(3)
(4)

A

B
C
D
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29 Study the energy conversion below.

Chemical Electrical Light - Sound Heat
energy | energy 7| energy energy energy

" The energy conversion shown above is most unli@. to be found in a

(1)
(2)
(3)
4)

Radio
Television
Street lamp
Mobile phone

30 Winston dropped a tennis ball from a certain heighl. The ball bounced to a lower height
each time it hit the ground as shown below.

G\ tennis bail

-
LY

»

>

At which points does the tennis ball have more kinetic energy than gravitational potential

energy?

1 A and B only
(2) Aand D only
{3) B and C only
4) B and D only
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Section B (40 marks})

For questions 31 to 44, wiite your answers in this booldet. The number of marks available is shown
in brackets [ | at the end of each question or parf question.

31.  Jonathan placed two sirnilar basketballs, A and B, on weighing scales as shown below.
The basketballs have equal volumes of 6 000 cm®

Basketball A ' Basketbail B

(a) Jonathan pumped 500 cm’® of air into basketball B and glaced both basketballs on the .~

. weighing seales again. In the space below, draw the needle of the weighing scale to
show what Jonathan would observe about the reading. i

Basketball A BasketbaliB

(b) After 500 cm® of air was pumped into basketball B, what would be the total volume of air
in basketball B? Explain your answer. ' [1]

ACS (Junfor) P6 SA1 2013 N B -1 | Sub-total
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32, The diagram below shows a btseXual flower (having both male and female parts) with .
mlssmg parts :

potai '

(a) Will the flower shown in the diagram be able to devetop into a fit? Give a reason for
your answer. : (1}

(b) The flower in the diagram has large petals Exp!am what might the fiower not be able to
do if the petals were removed M

(¢} In the diagram above, draw and tabel the missing parts of the flower. [1}
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33. Lu.kas conducted an expefim&t using set-ups Aand B as shown below. He wrapped a
glass beaker with material R and another identical glass beaker with fateral S. He filled
both beakers with the same volume of cold water at 5°C.

miaterial S

Lukas measured the temperature of the water at regular intervals over an hour and plotted :
his restlfs in the graph below. _ ‘

temperature (°C)
&

set-up A

set-up B

Q . —— > time {units}

(a) What happened at point X of the graph of set-up A that caused the temperature to
remain constant afterthat? - '

(1]

(b) Compare the rate of heat gain between the water in sét—up A and set-up B. . [t} |
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34.

{€) Which matedal is better suited for making a frying pan? Explain your choice. [1]

Nicholas carried out an experiment using three towels, X, Y and Z, which are of the same
size. He soaked each of the towels in water and weighed them to ensure that each of themn
weighed 200g. He folded Towel ¥ once and Towel Z twice. Towel X was unfolded. He
then hung them out to dry in the open. Nicholas wanted to prove that Towel X would welgh
the least at the end of 60 minutes since it had the biggest exposed surface area. '

Towel Z
(fo!degj lwice) =

TJowel Y
{folded cnce)

Towel X
(unfolded)

He weighed the towels at 15-minute intervals and recorded the mass of the towel in the
" table below.

Startof - [ - .
Towel experiment 15'mm =3min - 45 min 60 min
X 200g 185g 1729 158g 140g
Y 200g 160g 130g 95g 57g
Z 200g 170g 142g 118g 90g

(a) What was the aim of Nicholas’ experiment?

(b} Towel X did not weigh the least at the end of 60 minutes. Suggest a reason why this
might be so.

ACS (Junior) P6 SAT 2013
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{c) How would the resulls have been dsfferent if the towels had been hung indoors?

35.  The table below deacribes the various stages of the growth of a bean seed.

Stage Description
Number )

The seed leaves drop off.
~ | Theroot grows downwards.

| The shoot grows upwards.
1 Seed coat breaks. '
- The young leaves appear.

(a) Arrange them in the comect order by \mtmg its stage number, 110 5, in the box next to

the description. Stage 1 has been indicated for you. (11
(b) What conditions are necessary for the seed to reach Stage 1?7 [1]
_ {c} Wriat is the source of energy for the seed at Stage 17 {1]

_ ACS (Junior} P6 SAT 2013 .  B-§ ‘Sub-total




Zavier set up the experiment shown below and left the set-up In a darkened room.

. glass beil

lime water

After two days, he observed the set-up and made the conclusion that carbon dioxide is
given out during respiration.

(a) Why did Zavier have to put the set-up in a darkenéd room? (11

- (b} In the space provided below, draw and label a control experiment to confirm the result
of his expeniment. i

(c) What difference should Zavier observe between the two set-ups after two days to
confirm the results of his experiment? (1]

ACS (Junior) P6.SA1 2013 . B-§ D Sub-total




. 37. Afex set up a circuit with a switch, two batteries and three identical bulbs X, Y and Z. The
circuit was hidden in a box while the bulbs were exposed. The diagram below shows the
position of the bulbs.

(a) When the switch was closed, all three bulbs lit up. Alex then removed the bulbs X, Y
and Z ore at a time while the switch remained closéd. He made the following
abservations. (Only one bulb was removed from the circuit each time.)

‘Butb removed -Obseérvations
X Y and Z remained it
Y Z went off but X remained it
Z Y went off but X remained it

-In the space provided below, draw how the circuit has been connected. Label the bulbs.

(b) Alex wanted the other 2 bulbs to stay lighted up when any one of the bulbs is removed
while the drcuit is closed. Draw how he should connect the circuit in the space
provided below. Labef the bulbs. {1}

(c) Without moving or changing the bulbs, what could he do to the circuit in part (b) if he
wanted the bulbs to glow brighter? [1]

ACS (Juniof} P6 SA1 2013 . B-7. o  Sub-total
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thumbtacks as shown below.

R R A W e

F, e FE S T BT e o 3 T SRR

38. . Fred hung four different magnets, J, K L:'and M, an equal distance from a tray of

supporiing
s frame

iron
thumbtacks in
a plastic tray

He recorded the number of pins each magnet was able to attract in the table below.

_ . Number of pins attracted to the magnet ,
Magnet " : : , —— R
i try 2 try 3" try Average
J 18 17 19 18
K 7 5 6 6
L 12 13 .14 13
M 3 2 4 3

(a) Based on the results of Fred's experiment, what could he be trying to find out?  [1]

(b) From the data collected, what could Fred conciude about the strength of the

magnets and i{s size?

(1

{c} Based on the result of Fred's experiment, arrange the magnets according to their
strength. Begin with the weakest magnet.

(1)

ACS (Junior) P6 SA12013 - .

Sub-total




39 Georgina planted long bean plants in four similar flower beds A, B, C and D. The talg®
below shows the conditions of the flower beds.

Bed Presence of weeds Presence of dead plants

A Absent ~ Absent
B Absent . 1 . . Present -
- C Present 'Present

D Present  Absent

{a) if Geargina wanted to find out if the presence of dead plants would affect the growth
of the long bean plants, which 2 flower beds should she use to conduct her
investigation in order to get the best conclusion? : 1]

{b)‘ Based.on the above information, which flower bed wouldd grow the best long bean
plant? Explain yourchoace L - - ) o L 1

(c) How does the pfesendé of weeds affect the growth of the long bean plants? [1]
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4q. Gareth collected four sammés of pond wates, W, X, Y and Z. He first set up the experiment
as shown below. Each sample of pond water was plaoed 20cm from the screen and 20cm
from the torch.

Screert

pond water W _|
© in gilass beaker [—

| E——— 20 cm > <

He noted the darkness of the shadow cast by each sample of pond water on a piece of
paper as shown below.

- Using the same samples of pond water, Gareth set up anothier expériment as shown below.

torch

retort | gtass beaker

stand - pond water sample

w

He shone light through 100m! of pond water W, Using a light sensor which is attached to a
datalogger, he measured the amount of light that was able to pass through the beaker of
pond water. He repeated the same experiment with pond water samples, X, Y and Z, and
recorded his' observation in the table below.

Pond Amount of light detected for each sample of pond water (fux)
S::‘it;{e_ 1% reading 2 reading 3™ ceading | Average reading
501 498 486 495
800 802 . 810 804
62 58 63 61
1103 _ 1112 1106 1107

(@  In his hurry to complete the experiment, Gareth forgot to indicate the pond water
samples in his table. Using information from the first experiment, write "W, "X", *Y"
and “Z° in the table above. ‘ 1]
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(b) Based on the resulis of Gareih's investigation, which pond water sample will-
expect the fully-submerged aquatic plants fo grow best? Give areason. (1)

41 The diagram below shows a food retationship in Community G.

/S 2 - x
"

Y u

€a) Write down a 4-organism food chain that involves organism Y. {1

'{b) The organ:sms were dass:ﬁed into 4 gmups as shown “below. Wnte suitable
sub-headings for each group in the blanks below. [}

Organisms in Community G

A<

{c) Explain how. the poputation of V will be affected if the population of S were 10
decrease. [2}--

B-11 . _ Sub-fotal]
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42. The food chain below shows the food refationship among three ofganisms, P, Q and R.

Organism Q can be found in water that is slightly further away from the seastore. It has
only a few types of predators as it is usually potsonous.

The diagram below shows how two omganisms, Q and Z, depend on each other. Organismi
Z cuts out pieces of Organism Q and atfaches them onto #self. The pieces of Organism Q
which are attached on Organism Z can survive well.

(a) Give a reason for Organism Z to attach pieces of Organism Q onto itself. [

{b) State 2 ways in wh:ch the pieces of Organism Q that are attached lo Orgamsm Z
may benefit from the above refationship. {21
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43 Ivan wanted to investigate the thermal-conductivity of two malerials, X and Y. Using two
similar-sized comtginers made of X and Y, he poured water of 80°C into each of them. He
then placed the two centainers into fwo identical basins each filed with an equal amount of
tap water as shown in the diagram below and left both sef-ups in the sarne room.

i water at :
Container / / 80°C. \ _,:_,_\ Contalner

madé of ~ j ' . ' : - B '
material X '

basin of
fap water

fvan measured the temperature of the water in both containers every 2 minutes for 30
minutes and plotted his observation in the graph below.

Temperature
of water (°C)

> Time (min)

0 30
(a) State a variable which fvan has to keep constant to ensure that his iwesﬁbaﬁon is

1]

fair.

(b} Based on the results of Ivan's investigation, compare the ability of materials X and Y_
to conduct heat. (1]

e e

Subtotat |
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44 - James conducted an invesligation to find out how the mass of a ‘plastic; coin would affebt
© the distance it will move when it is pushed by a wooden block. He placed the coin at the
starting fine and then pulied the wooden block with a rubber band attached to it to point X

as shown below.

o
\
I
'

N

1
t
]

A

sfarting line

- forcoinn

plastic .
coin \O ‘

.-—Ak-m--ﬂf--u-.

Ll

. wooden
- .- block

rubber
band

James observed that when he released the wooden block, it moved forward and pushed
the coin. The distance moved by the coin, (D), was measured and recorded in _the table
below. He repeated the experiment using plastic coins of different mass.

Distance moved (D} / {em)

Mass of blasﬁé
coin (g) 1" try 2™ try Average
20 3‘2.3 367 315
30 23.7 221 r)
40 15.2 13.8 14.5 .

{a) Fil in the blanks to show the energy conversion from the time the rubber band was puiled

to point X to the time when the plastic coin stopped moving.

energy in the rubber
band

(1}

‘energy in the rubber

band

energies inthe wooden
block

(6) Based on the results of James' investigation, what is the re[ationship between the mass of
the plastic coin and the distance moved by the coin?

(1

{c) James repeated the experiment by pulling the same wooden block with the same rubber
band to point Y this time. Exptain how the distance moved would be affected. (11

.
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5d[e 4 [0 2 16) 3 53 [26) 1
2) 1 7 3 12) 4 17) 1 22) 1 27) 4
3) 1 g) 2 13) 1 18) 3 23) 3 28) 1
4) 1 g) 3 14) 2 19) 3 24) 4 29) 3
[5) 3 10) 3 15) 2 20) 2 25) 1 30) 2
31.(a)

(b) The total volume of air is still 6000 cm® because air can be
compressed.

32. (a) Yes, it will. The flower is pollinated by insects. It has the needed parts,
the stigma, style, the ovary and the ovules to develop into a fruit. :
(b) it might be abte to attract insects to help it with pollination.

(©)

33. (@) The water reached room temperature.
(b) The cold water in set-up A gained heat faster than the cold water in

set-up B.

e e e S B







(c) Material R It is a good conductor of heat thus it will cook the food in a
frying pan faster. ,

34. (a) He-wanted to find out if the amount of surface area affects the rate of
evaporation.

(b) Towel X was made of a different material.

(c) There would be a smaller decrease in the mass..

35.(a)5,2,3,1,4
(b) Water, warmth, air.
(¢) They stored food in the seed leaves.

36. (@) So that the plant would not use up the carbon dioxide to
photosynthesis.

(b)

—~ glass el jay

| ‘E:_ ‘ tne U}C‘ﬂe\'

(c) Zavier would observe the limewater in the set-up with the potted plant
turn chalky while the limewater in the control set-up would not turn chalky.

37.(a)

L

(b)

i
;‘"_..

(c) He could add more batteries.

38. (a) Fred was trying to find. out how the different magnets can affect the
number of pins attracted







(b) The bigger the magnet does not mean the magnet is strong, the
smaller the magnet does not mean the magnet is weak.
MK L, T

39.(a) Aand B.

(b) Flower bed B. When other organisms decompose the dead plant; the
nutrients of the decomposed plant would seep.into the soil thus. a[iowmg the -
long bean to take in the nutrients.

(c) When there are weeds, they will fight with the long bean planis for
water, sunlight and mineral salts

40.a8) X, Z, W, Y
(b) Pond water sample Y. Most of the light can pass through it and reach
the fully submerged aquatic plants thus aliowing them to photosynthesis.

41.@X>S>ZL>Y

(b) Food producer; Carnivores; Omnivores; Herbivores

(c) When the population of S decreases, the population of T increases, as
there is more X for T to feed on. With more T, there will be more prey for
organism V to feed on and the population of V will increase.

42. (a) As Q is usually poisonous, organism Z uses it to scare away its
predators. '
(b) As Z carries Q around with if, Q can get to move around to feed on
more food. Q can also escape from ifs predators.

43.{(a) The amount of basin water.
(b) X conducts heat away slower than Y.

44. (a) Elastic potential > Kinetic > Kinetic + Sound + Heat

(b) The heavier the mass of the plastic coin, the lesser the distance
moved buy if.

(c) There is lesser elastic potential energy inthe rubber band thus it would
be converted into lesser kinetic energy in the moving rubber band thus the
distance moved by the plastic coin would be shorter.
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